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125 Merry-go-round

A merry-go-round is a large flat disk that spins around a vertical axis through its center. A
child is at the edge of a merry-go-round with radius 3.0 m. The merry-go-round spins so that

the child’s acceleration is 1.5g. Determine the period and frequency of orbit for this to occur.
(131F2024)
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132 Acceleration on Earth’s surface

People stand on Earth’s surface and are at rest relative to Earth. Earth has a radius of
6.4 x 10% km and spins about its poles at a rate of one revolution every 24 hrs. (131F2024)

a) Determine the acceleration of a person at Earth’s equator.

b) Another person stands at a location much closer to the North pole. Is this person’s
acceleration the same as, larger than or smaller than that of a person at the equator?
Explain your answer.
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